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Q) After paying 30 out of 40 installments of a debt of Rs. 3600,
one third of the debt 1s unpaid. Ifthe mstallments are forming
an arithmetic series, then what 1s the first instalment?

(@ Rs350 ) Rs5l
105 S i 2900 = 15 (4 +44d)

0+ 394 = /60 — ()
-4'3?—(350") - ‘%9’ (Ja ' (MFI)C{) + 394 =180 —@

300 = _Ef;?_q,(«?af (‘fo-/)af)/ Jod = 20 —_~)

o?a-[- 58 = [60
Jo =102 9 (a=5
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Q) After paying 30 out of 40 installments of a debt of Rs. 3600,
one third ot the debt 1s unpaid. Ifthe mstallments are forming
an arithmetic series, then what is the first instalment?

(@ Rs50 (b) Rs3l
(¢) Rs105 (d) Rs110

Ans: (b)
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Q)If the sum of ‘»’ terms of an arithmetic progression is
n? —2n, then what is the »* term?
(@) 3n—n? (b) 2n-3
() 2n+3 (dy 2n-5

(08)

by = o $, = [*= 4x/ = -] :

- 4 L [('n ) '?(n—l)] -

——————

- o)n..g (@) 30) - ("= 4
f (6) 201) -8 = -1 v

"
/\7
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Q)If the sum of ‘»’ terms of an arithmetic progression is
n? —2n, then what is the »* term?
@) 3n—n? (b) 2n-3
(c) 2n+3 (d) 2n-5

Ans: (b)
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Q) What 1s sum to the 100 terms of the series
9+99--999+ .7

@ 190(10“’0 1)-100 (b) —(10” ~1)-100
© 100(1001°-1) (@) %(10“’0—1)

(Io’-—-l) t (,02_,) f (log-—;) +_ .
(' #0410+ {om) ; [(-—I) (1) # (1) + .. Groo ﬁ'mu)j
\—/\f\—/

/o((/o)fogfl + (-1) %o = //0( -f) ~/00

0 —/
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Q) What 1s sum to the 100 terms of the series
9+99+999+...?

(a) %(10100_1)—100 (b) %(1099 _1)_100
(© 100(1001°-1)  (d) %(10100_1)

Ans: (a)
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Q)Ifthe sum of the first two terms and the sum of'the first four
terms of a geometric progression with positive common ratio
are 8 and 80 respectively, then what 1s the 6th term?

(@) S8 (b) 243

(0) 486 (d) 1458 J+7 - 1y
atay =8 2 A(I+7) = ¢ 29
a+ ar + art+6y° = 80 r=+3

\3/+ ar°'(/+r) = 2D

b+ Tq'[ﬂ (H-r)] = 80

3%72(3): g0

g( J472) = &0

gu/' MY ;J' /DO.('I\#V{/

EEEEE
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Q)Ifthe sum ofthe first two terms and the sum of the first four
terms of a geometric progression with positive common ratio
are 8 and 80 respectively, then what is the 6th term?

(a) &3 (b) 243
(c) 436 (d) 1458

Ans: (c)
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Q)Ifx?,y?, z* arein AP, theny +z, z +x, x + y are in
(@) AP (b) HP

a6 ¢ are )
c @ (d) None of these L rem
{ . L 1)
q"otf’: P+ gt I -1 4+ 1 ('2," e
142 Wz “d'
_i_ x+=?,y+z

o?ﬁ/{+gdaf%f%; 1 +%¢/z{+ﬁ+%z+x

er‘: 1zt 5 ,,J ond X ave m A/
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d+2 I+T, l-rdf

(D z+x = &1‘21'1-1-&‘
{z + 41 > o?(frHZ

°?d - 142 .9 I,J,Z are 77) AP.

(8) (2t1)*- (ﬁ“)[”df)
Ptdrzta =j_?f+dl+3_’f*5f

- X

17" = OYL”C/V/Z -1z
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Q)Ifx?%, 32, z2 are in AP, then y +z, z+x, x + y are in
(@ AP (b) HP
(c) GP (d) None of these

Ans: (b)



NDA 12025 - LIVE CLASS - MATHS - PART 4
(=)

EEEEE

Q) What is the value of

1—2+3—4+5—....+101?

(a) 51 (b) 55

(c) 110 (d) 111

(/+3¢5+?”- !_?J)"v?(/—l‘o?f,?'fy-f-_- 90)

Sum o/ 0dd numbere /rtrm ; Fon = gt n= daFodd pumber +)

d
(51)° - A5 (51) -~ (s1)%= 50 x5

4 25‘/[5/—50):@
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Q) What is the value

1—24+3—445—.....+101?
(a) 51 (b) 55
(c) 110 (d) 111

Ans: (a)

of
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Q)If by, b,, by are three consecutive terms of an arithmetic
progression with common difference d > 0, then what isthe

value of d for which b% =byby +b;d+2?

1

@ 3 ®) 0

© 1 d) 2
b = - (144)" = a(ard) + (-4 d+

b, - a
[:: O\f"f /a)/f%ﬂ# —:/4/41#}]/—6’1‘}4

Adt = ':—‘9 dz‘-‘«/ ) d:i,

Ae  d70 "’)
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Q)If by, b,, by are three consecutive terms of an arithmetic
progression with common difference d > 0, then what isthe

value of d for which b% =b,yby +bjd+2?

1

(a) 5 b) 0

© 1 d) 2

Ans: (c)
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Q)If1, x, v, z, 16 are in geometric progression, then what is the

valueofx +y+z?
(@) 8 (b) 12
(c) 14 (d 16 - 15’24
(}, 1, d[ Z, /3 // 2), Cf)/ 8\, lb _{, —-)9./ 'f( "(8' !_é
Y- _

T = 1

e P
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Q)If1, x, v, z, 16 are in geometric progression, then what is the

valueof x +y+z?
(@) 3 (b) 12
(c) 14 (d) 16

Ans: (c)
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Q) Which one of the following is correct?
1 1 1 1

If —— *7 =, thenab,carein p [ i
(a) AP (b) HP (t-br¢) | —— *+ L= | =
(¢c) GP _ (d) None of these — a( 5-0) c(é-—a)J

.._/_._. -_L 7"( _L —_— _[ - b '
e a b-a € ¢cb-Ca+ab—aC __ =0

“ac (b-¢) (b-9)

- (é—c) . ¢-(b-0) _p
4 (b-¢) ¢(b-a) dac = b +be
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a¢ = Qb+ be
°?ﬂC — dé—l—éc
Qb Gbe
4 - 1L 41
b ¢ a
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Q) Which one of the following is correct?
1 1 1 1

If + =—+—, thena, b, carein
b—-c b—-a a c
(@) AP (b) HP
(¢c) GP _ (d) None of these

Ans: (b)
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Q)If4,B and Carein APand b: c= /3 : /2 ,then what is the

value of sin C?
1
@ 1 (b) E - ¢
1 S8 Sin
© 3 @ 7 Y ésinc:)gf"fi
AB= A+C ¢ She /f
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Q)If4,B and Carein APand b: c= /3 : /2 ,then what is the
value of sin C?

1
@ 1 ®) 5

51

© /3 (d)

Ans: (d)
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EXAMS

Q)Ifthe AM and GM between two number are in the ratio m : n,
then what 1s the ratio between the two numbers?

2 2 a+6_ = M
m+Afm —n 1+ 1 K —_—
@) 7 — \/mz —n? ®) R i o g
Vab
m* — n? m? +n% — mn A +b N
C d pul
(©) m® + n? () m® +n% + mn

dVab "

(a'””)a _ = __’P_E-
2
Yab "
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_q_.- = C — a"-b - .g'.td——
b q \ d
- ¢+q
(—o
ats) . m — ()
Yab nt
(6 W= 4ab - mton
dob , Nt
@ _3;_@ (a+b) :L
r (a.-b)l mi-nt

——
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foaw* _ W
(a-9>  w*0*
d+b
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Q)Ifthe AM and GM between two number are in the ratio m : n,

then what 1s the ratio between the two numbers?

\/ 2 2
m+Afm —n 1+ 1
(a) (b)
m—\/mz —n? R
mz — n2 mz + n2 —mn
C d
(©) m'2 +n2 (@) mz - nz + mn

Ans: (a)

EXAMS
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Q) The arithmeticmean of two numbers exceeds their geometric
mean by 2 and the geometric mean exceeds their harmonic
mean by 1.6. What are the two numbers?

@) 16,4 ®) 8L9 «
(c) 256,16 (d) 625,25
atb - Jab 44 Vab = 4’6 4 [
q a+b B
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Q) The arithmeticmean of two numbers exceeds their geometric

mean by 2 and the geometric mean exceeds their harmonic
mean by 1.6. What are the two numbers?

@) 16,4 ®) 81,9
© 256,16 (d) 625,25

Ans: (a)
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1 1
' N3 +—4 +.....7
Q)What 1s the sum of \/§ 3 \/?—,

J3 33

@ - ©) anih G Semds,
NE | \G r- [/ 4’)
© Tf @ 3 (3)0
) , A ,..’_ __L S'm g __9_._.
" 7 3 - [-v
_ — 3
P L R S /2
V2 ", / 3

EEEEE
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1 ]
Q)Whatisthesumof\/g+\/§+3\/§+ ..... ?
J3 33
(a) ey (b) e
2+/3
© Tf @ 3

Ans: (b)
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1 1 1 1
Q)If + =—+— thena, b, carein
b—a b—-c a c

(a) AP (b) GP
(c) HP (d) None of these
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1 1 1 1

Q)If + =—+— thena, b, carein
b—a b-c a c
(a) AP (b) GP
(c) HP (d) None of these

Ans: (c)
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Q) Which one of the following options is correct?
() sin?30°, sin?45°, sin? 60° are in GP
(b) cos? 30°, cos? 45°, cos? 60° are in GP
(¢) cot?30°, cot? 45°, cot® 60° are in GP
) tan?30°, tan?45°, tan? 60° are in GP
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Q) Which one of the following options is correct?
() sin?30°, sin?45°, sin? 60° are in GP
(b) cos? 30°, cos? 45°, cos? 60° are in GP
(¢) cot?30°, cot? 45°, cot® 60° are in GP
) tan?30°, tan?45°, tan? 60° are in GP

Ans: (d)
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Q)What 1s the 10th common term between the series
2+6+10+....and1+6+11+....°7
(@) 180 (b) 186
(c) 196 (d) 206 / 2=2 d;t{

3 () 1o 1y 1 ag LeM = ammm diff.
/ N b Y g’\a:/',q’:‘ff of#u

ommm

-Yx5 :
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Q)What 1s the 10th common term between the series
2+6+10+....and1+6+11+....°7
(@) 180 (b) 186
(c) 196 (d) 206

Ans: (b)
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Q) If the AM and HM of two numbers are 27 and 12 respectively,
then what 1s therr GM equal to?

(@) 12 b) 18
) 24 @ 27
AM 7 GM 7 HM
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Q) If the AM and HM of two numbers are 27 and 12 respectively,
then what 1s therr GM equal to?

() 12 (b) 18
c 24 @) 27

Ans: (b)
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1 1 3
Q)Which term of the sequence 20, 192, 185, 172,--- is the

first negative term?

(@) 27th (b) 28th
(¢) 2%9th (d) Nosuch term exists
- 0~-3y +3 =0
=0 7Y
a+('n-lu’-10 'n:-__?}.}(/
3
A0 # ('n-l):g__ _ v
f

EEEEE
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1 1 3
Q)Which term of the sequence 20, 192, 185, 172,--. is the

first negative term?
(@) 27th (b) 28th
(¢) 2%9th (d) Nosuch term exists

Ans: (b)
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Q)If the sequence {S } 1s a geometric progression and

S, S = Sp S, then what 1s the value of p?

@ 1 (b) 3

© 5 (d) cannot be determined
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Q)If the sequence {S } 1s a geometric progression and
S, S = Sp S, then what 1s the value of p?

@ 1 (b) 3

© 5 (d) cannot be determined

Ans: (c)
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DIRECTIONS . : For the next two (02) Questions
that follow:

The sum of first 10 terms and 20 terms of an AP are 120 and 440
respectively.
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Q)What 1s its first term?
(@) 2
(c) 4
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Q)What 1s its first term?
(@) 2
(c) 4

Ans: (b)

,H_'H\
ec

o W
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Q)What 1s the common difference?

(@ 1 (b) 2
) 3 (d) 4
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Q)What 1s the common difference?

(@ 1 (b) 2
c) 3 (d) 4

Ans: (b)
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Q)What 1s the number of diagonals which can be drawn by
joining the angular points of a polygon of 100 sides?
(@) 4850 (b) 4950
(c) 5000 (d) 10000
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EEEEE

Q)What 1s the number of diagonals which can be drawn by
joining the angular points of a polygon of 100 sides?
(@) 4850 (b) 4950
(c) 5000 (d) 10000

Ans: (a)
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Q)What is the geometric mean of the sequence 1,2, 4, 8, ...
219
(a) 211/2 (b) 2(11 +1)/2
(c) 2@+ _ (d) 2@-1
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Q)What is the geometric mean of the sequence 1,2, 4, 8, ...

219
(a) 2n/2 (b) 2(11 +1)/2
(¢) 2m+1) _ g (d) 2(n -1)

Ans: (a)
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EEEEE

Q) The harmonic mean H of two numbers 1s 4 and the arithmetic
mean A and geometric mean G satisfy the equation
2A + G2 =27. The two numbers are

@ 6,3 ) 9,5
© 12,7 d) 3,1
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EEEEE

Q) The harmonic mean H of two numbers 1s 4 and the arithmetic
mean A and geometric mean G satisfy the equation
2A + G2 =27. The two numbers are

@ 6,3 ) 9,5
© 12,7 d) 3,1

Ans: (a)
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